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* 19|BIEEB & R ERAEHE 0.750] A 24,200 18,150/ 24,200 18,150 0.750 18,150
501 (M HE R E X |MgLBEIcdd 388 5.000] % 57,888 2,894 0 0 0.000 0
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g 61,650 57,888 1.500| 43,225
B fiff 1.0 Ky 61,650
EEAGE 57,888
ZTDMhIEE 3,762
data| (&%) KFIL(1202) HEETIERE3OMLLE50mEKE 0.0 Hiix & 0.0
5




— Y ; }
kR R E ﬁﬁ%%
e 3369 | = 4l 58 BRES| 3369 |NAh1BMEEES
Bl&# | FaRERA J1-FNo ER D 1.00 1 R BT = AE ST E A E A=F-
B & _ _ 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
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* 178 S B Afitd R ERAEHE 0.240[ A 30,700 7,368 30,700 7,368 0.000 0
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* 17[ B = e R EHEEEREE 0.120] A 30,700 3,684] 30,700 3,684 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.000 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.240[ A 24,200 5,808/ 24,200 5,808 0.240 5,808
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* 17[ B = e R EHEEEREE 0.420] A 30,700 12,894 30,700 12,894 0.290 8,903
* 18[;A|ZBhF RIFZMTEHEEEREE 0570 A 29,600 16,872] 29,600 16,872 0.570| 16,872
* 19[;BI =B & R EEEREE 0570 A 24,200 13,794| 24,200 13,794 0.570 13,794
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 57,960 2,898 0 0 0.000 0
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* 17[ B = e R EHEEEREE 0.220] A 30,700 6,754 30,700 6,754 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.440[ A 29,600 13,024] 29,600 13,024 0.240 7,104
* 19[;BI =B & R EEEREE 0.220[ A 24,200 5,324 24,200 5,324 0.220 5,324
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 27,902 1,395 0 0 0.000 0
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* 19[;BI =B & R EEEREE 0.240[ A 24,200 5,808/ 24,200 5,808 0.240 5,808
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* 17[ B = e R EHEEEREE 0.420] A 30,700 12,894 30,700 12,894 0.290 8,903
* 18[;A|ZBhF RIFZMTEHEEEREE 0570 A 29,600 16,872] 29,600 16,872 0.570| 16,872
* 19[;BI =B & R EEEREE 0570 A 24,200 13,794| 24,200 13,794 0.570 13,794
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* 17[ B = e R EHEEEREE 0.220] A 30,700 6,754 30,700 6,754 0.120 3,684
* 18[BI=B1F RIFZMTEHEEEREE 0.440[ A 29,600 13,024] 29,600 13,024 0.240 7,104
* 19[;BI =B & R EEEREE 0.220[ A 24,200 5,324 24,200 5,324 0.220 5,324
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 27,902 1,395 0 0 0.000 0
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* 17[ B = e R ERAEHE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
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